12°

81‘

h

1113+69.5

ﬂ1-

are 10 Lev Lir rgaad

10

200

CELL 2

0-50 ft

30

1113+19.5

40’ 50°

Passing Lane

H

Driving Lane

—_— 1 L

D!

et

ﬂ-Q—/L’

20°

El)

407 50°

12

8'!

41



£69+TI11

S50-100 fr

CELL 2

S6I+€111

1007

o0°

a0

70’

60°

._..u
Wy

| P4

-12°

M

-127

1007

90’

80°

70

60’

507



12+

4‘.\

-12°

" CELL 2 s
= =
¥ 100-150 ft by
= 122
100° 110° 120° 1307 1407 150°
_ j Al
—— B -=T — = _— ——F
\.
1007 110° 1200 1307 1407 150°

12

8‘.\

4$

4

-8’

-12°



12°

4’

4

) CELL 2 w
= =
i 150-200 ft =
= -
1 L] ] 3 L | 2[" kd
150 160 M 170 s 180 L 190 ! L 0
—_— e g — | — I o
&
H
J hda
I s

150°

160°

170°

180°

190°

200°

12

4’

-12°



2

8!‘

4’

=12

CELL 2

v v,
= =
2 200-250 ft E
200° 210 220° 230° 240° 250°
H g H
) AAM_\
e = e —_— = ————— ]
IR N —_——— e e et
H
H
ok = - EC )
| | |
200° 210° 220 230 240° 250°

127

81‘

4’

-8’

-12°



83

4’

1111+19.5

250°

260°

CELL 2

250-300 ft

280r

1110+69.5

300°

M

o

alf

i 1 ]

2508

260°

270°

2807

29¢°

3007

12

8'!

4$



12

81

-8

CELL 2

w3 2
2 300-350 fi by
= =
3000 3100 320 330 Ls 340° L 3507
il | =il
M
L |
i e
P E i e e e —— J—— —— p——
i
300° 3y 320 330 340° 3ar

127

8!

4'.!

-4’



12°

8!

-12°

1110+19.5

h
=

L

CELL 2

350-400 ft

3807

1109+69.5

3907 400°

H

380

390’ 4007

“«— >
SENSOR AREA

I

81

4’

-4’

-12°



-
-2

81

A

o CELL 2 e
5 400-450 ft T
=] (=)
= -
400° 410 L 420 430 440 I 450
\ M M M
3 0 T e |
b — _._‘H_-_-_.'._,_, s —
H

I

400°

410°

420°

4307

4407

4508

83

4!

-12°



12°

-4’

-12°

CELL 2

) M
- =]
= i
2 s
= 450-500 ft =
450° Ls 460’ Ls 470° 4807 490° 5007

S M M
— _._.———""'-F__-'\‘-:-_
— T T — . — _— —_——] R I - T o
M
L
| 1
450° 460° 470° 4807 490° S00°

2

8?

-12°



